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A Universal Solution to Determine the Feasibility of Titration

Shao Limin

( Department of Chemistry, University of Science and Technology of China, Hefei 230026)

Abstract A universal solution is proposed to determine the feasibility of various types of titrations. This solution
features unambiguous theory, simple procedure, low memorization, and high efficiency. The efficiency is not affected
by changes of parameters such as visual uncertainty or allowance error. For multi-component titrations, the solution is
also efficient despite complex calculations that can be completed quickly with the software developed by the author.

This solution provides a different approach from the traditional formula-based one to determine the feasibility of

titration.
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Fig.1 The procedure of determining the feasibility of titration
based on (a) endpoint error and (b) titration jump
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